Maulana Azad National Urdu University
B.Sc., (ZBC/MPC)
IV Semester (Backlog) Examination - December- 2020

BSCH401CCT - Physical Chemistry
Time : 3 hrs Marks : 70
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_ZE ol S (Boyl's Law) SEEL (i)

_éuguy/gd/(Grahm's Law of Rate of Diffusion):gd];ﬁ@/:'fﬂﬂf (ii)
_g.i:ug..{c{/?d/(Nernst Distribution Law)f(f‘ﬂﬁvﬁ) (iii)
_“ﬁg(Value)/ﬁd/(lonic Product of Water) */}Jlla&b/g(}g (iv)
_ﬁgﬁdr‘m{(ldeal Gas Equation)c«bl/‘j{/dt‘/ (v)

-&Jdlf‘/d/(Strong EIectronte)oﬁ,’L.J/./?’thg (vi)

_ZE P pH SJF0.01MHCl  (vil)

-“éugb@/?d/(Heat of Formation) u:fa/l/ (viii)
_“éuy._ég/;jd/(ﬂosed System).4:.3/(Open System) (UQJU‘; (ix)
o S (Molarity) bty (x)

f‘,d-m

ST ol Pl o
-“é;!/gl;wJQ@LnL/ug/ (Gas Law's) Ui sd
_éﬁlﬂjjuyALCp 2ICv

P.T.O. [1 ]
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_ s AH =AE+(an), RT
JQ{K:AVSQ;QJ_LJ@J;'@%ALéuy..Q}J(Le Chatelier Principle)Jﬂlpng
EAS TN,

PCI,(s) = PCL(g)+CL(g) N,(g)+3H,(g) = 2NH,(g) + Heat
_“‘L}(jél/abVJJ'LnL/ugbéjyd/(Ostwald's Dilution Law) JK%‘L}.’JI}@T
s FL A s
;)Jlff/d)g(ldeal and Non-ldeaI)dt‘«‘/:,;u'dlf«‘.gfguy..y/;ju((Raoult's LaW){KLd}U
~ZukS

e}w-m

_g{uybéfJ(Critical Constants) ;ub-"g’”flé

u{;ud/(Osmotic Pressure) 5@}07.;’)_étéuf-ujkj/(Colligative Properties)aknﬂ%’?ﬂ
,gfgl&l:gpgwKZ_/U'ilaubu)VJ(Non—Volatile Solute);ﬁ/{gd%j
EIY T
(Abnormal Molecular Mass) uh(jl«fu’&. (i)
12 s Bl e U o (Van't Hoff Factor) Z 3Lty (ii)
K, [Fe(O4 )]6 ()  NaCl (d)  MgCl, (o) Na,SO, (b) NaNO; (a)

Jéf}'/’%ﬂéugb@}}d/mess's Law of Constant Heat Summation) JL@/IJJﬁyﬁuf
_“é.,«;j(Heat of formation)@fc«/'ﬂ!(Ethyl AIcohoI)Jf}JJ/UflLm’"ié.nZ_/Jbv"‘ifu?bt/ég{J}
CzHSOH(l)-f- 30, - 2C0, (g)+ 3H20(1)AH =-367.7KCal (i)

C (grahphite)+0,(g) — CO, (g) AH =—94.1KCal i

H,(g)+ Y5 0,(g) > H,0(I)AH =-68.3KCal (ii)

W 5 g o= i Kp sl Ke-gE et P4 (Law of Mass Action) wod (oK, 140l
B2 A Kp sl Ked L

H,(g)+1,(g)=2HI(g) ()

250,(g)+0,(g)=250,(g) (i) N,(g)+3H,(g)=2NH,(g) (i
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